*
YR AT el SR TH O | I9K Mie i are e |

Without opening the Paper seal take out Answer Sheet
from this side.

Eﬁ e 1 9y : 2024
RVE Y-t

AT AR WA Sl A
T & I forg A
N CAR|
IUH-11
feroawe: SRt

. uwEt. e o B.Sc. HOME SCIENCE
T : 03:00 = Time : 03:00 Hours
qurteR : 200 Maximum Marks : 200

Ll S

10.

11.

12.

13.

14.

T F IW 7 § e A9 @ SR W mm A g o |
eyt fey

TeA-GRAHT % AR IS R ATHATR & ATTRE F9 A fod |
afe fort we 3 forlt TR <t IS ot A1 e e B A W 6 ST o R TR H ¥ SISl SRR Bl Wi /AT ST |
st T % ofh T E |
st S ST, FINa-ie T w-giRasw A €1 #7 3% OMR Answer Sheet # ffdE wiem # wdt-udt =, sman
TR-TAE Tl GoATeh @l Rl SRR |
%ﬁw FE-YIRTH (Fheie) F 7T # 3 T g8T w1 @ Fad ST R | F@ § 39 =gt e Iacey Tl

|
=0 Ae-YRETH H 200 U (FEGEE YHR) T | TAF T F TR HAF SR, T & A (a), (b), ()T (d) TF W E | H AR A
T ool U T el SR © | T SR I 39 "l A7 ge Stad anE €, SuR-Ue (31.UH, 3R, 3T 8fie) H SOk 3R 9Tl g9 H
W HIET A S ETEE U & T her /el W S |
o -gfecreht | 3ifehd wuft v St € SR WA WA h WA 3 € | Ak T SR HE e, Sl o AR S o S |
AW GRI AT HT T aTell aeqfss Fhfa I wIearst § Fomess qedida (Negative Marking) Tgfd som Sl |
Fedl gRT WS W9 o U MU Ted IW % o an swredf R U v % us @ afie SR o & fou (3 fou o s |
¥ T TEl S | A B, 9@ U9 & fog feiika st o qw-SiaiE s gue % 9 H Hier S | gU W@Eq WK ekl o AW
H FHA WTATR A § T ST |
ek g T IR FAA ILTLAR. IIR-TAF (OMR Answer Sheet) R & fozn simn siffemd @ | 3003, SR-191% &
afafer o wel R fean o SR 9= & B |
A UH AR, IW-T9% R F8 g & 49 380 o 7 aft el & aaarEs ug o | .UH.AR, SW-EE § aited
AT T AW GRT OIET WIEH B & g R S At @ |
AR, TR- o whrt (e i), Fatad wfa @ st wfa) # @ | e anfer & Swwr vt oo R, sw-
T il g Wiy T wEied Ui e (Invigilator) HT SERIG IR % SR o & 819 | e it fR&afy 3§ smw g
T TTaR wRETEt 6 TS | ST AR, S-S A Al ufd, stefi s Wi o S ' € |
Ife 9 37 e H UG foraT 2, W IS W SUAT SATshATR sifehd o foam € 3R SLUH.AR, SWR-TEE W Fifed guee
WG €, T 9 I TS H, S q% ATIR YIA-GETHRT GIe I TEl hel T |
3.TA.AR, IR-T7F (O.M.R. Answer Sheet) ST FeATH 3I.TH.R, R e W 39972} gR1 sifeha TR-IST e (A, B, C, D) & 38R
R B feran StEAT |
FA-GRETHT (Question Booklet) # & 3.TH. 3R, IW-T5% (O.M.R. Answer Sheet) FFTa % U=Tq 1. TH.3MR. IR-TF T
V-G FT U6 TRA-GRTT 3 IS H1S (A, B, C, D) 1 iy Hrasmides 5t | af: SHaR Srardt @ A1 st 2, @
FEF o el w FREER €T |

| o smATa EAE-JRE R AT ES | |

el . WW-gREH Gem R qe Wi W 3@ o T aw-gfeae F vt O welr-wify 9% g € | Rt ve-gf diweg T @

FAAT FE T FA W, A IRIES FfewmaR E@ ER)S Fit gwd vw-giiawm o A |



1.  Open-Mesh fabrics with geometrical shapes are called :

(a) Non-woven (b) Knitting (¢) Net (d) Lace
2. Acrylic fibre has many properties similar to this fibre :

(a) Silk (b) Cotton (c) Rayon (d) Wool
3. Which fibre amongst below has maximum strength ?

(a) Cotton (b) Jute (c) Silk (d) Wool
4.  In which category of fibres wood-pulp is used as a raw material ?

(a) Synthetic fibres (b) Regenerated cellulosic fibres

(c) Protein fibres (d) Mineral fibres

5. Among the following which is a complex weave ?
(a) Twill weave (b) Jacquard weave (c) Satin weave (d) Basket weave

6.  Which fibre has maximum elasticity ?

(a) Rayon (b) Acrylic (c) Polyester (d) Nylon
7.  Which synthetic fibre is known as artificial silk ?

(a) Nylon (b) Polyester (c) Rayon (d) Spandex
8.  Which property of cotton makes it comfortable fabric ?

(a) Resiliency (b) Luster (c) Absorbency (d) Elasticity
9.  Which amongst below is not a natural fibre ?

(a) Asbestos (b) Rayon (c) Silk (d) Jute
10. Natural filament fibre is :

(a) Rayon (b) Acetate (c) Silk (d) Wool
11.  Which part of the cotton plant is used to make cotton fibres ?

(a) Seed (b) Stem (c) Leaves (d) Fruit
12.  When a finish is applied to almost all the fabrics, it is termed as finish.

(a) Temporary finish (b) Durable finishes

(c) Special finishes (d) Routine finishes
13.  Which fabrics are made directly from fibres without weaving or knitting ?

(a) Woven fabric (b) Non-woven fabric (¢) Knitted fabric (d) Laced fabric
14. A line where two or more fabrics are joined :

(a) Flatlock (b) Seam (c) Single lock stitch (d) Lock stitch
15. The distance from raw edge of a seam to the stitching line is known as :

(a) Seam allowances (b) Princess line

(c) Seam line (d) Gap

16. Among following, decorative weave with raised loop pile surface is :
(a) Rib weave (b) Leno weave (c) Satin weave (d) Pile weave
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Which yarns are irregular at regular intervals ?

(a) Single yarns  (b) Novelty yarns (c) Ply yarns (d) Cord yarns
Which number of needle is required for sewing of ordinary fabric ?

(a) 16 number (b) 9 number (¢) 11 number (d) 4 number
Main factors considered by teenage girls while selecting clothes are :

(a) Fit, colour, style & fashion (b) Fit, colour, style & price

(c) Style, price, comfort and need (d) Fit, colour, style & quality

Mixing fibres of different types and qualities during spinning is known as :
(a) Blending (b) Weaving (c) Knitting (d) Felting

Degumming of silk removes :
(a) Starch (b) Sericin (c) Lanolin (d) Fibroin

Sum total of all that is expressed through your face, size, posture, the way you talk and walk
1s

(a) Personality (b) Figure (c) Face (d) Body
Sanganer prints are produced by which printing ?

(a) Roller (b) Stencil (c) Screen (d) Block
Vat dyes are insoluble in :

(a) Acid (b) Oil (c) Water (d) Bases
The balling up of the fibres on fabric surface due to abrasion called :

(a) Naping (b) Pilling (c) Piling (d) Tufts
Basically running stitch is very much similar to :

(a) Stem stitch (b) Tacking (c) Hem stitch (d) Lazy dazy
A method of fabric construction is known as :

(a) Brushing (b) Bleaching (c) Warping (d) Weaving
Garment cutting and manufacturing is based on :

(a) Measurement (b) Fit (c) Style (d) Fullness
Material puckering in sewing may be caused by :

(a) Tension of thread being too tight (b) Dust clogging under the feed dog
(c) Thread caught in the shuttle (d) Improper threading

A device for making fabric by weaving yarns :

(a) Reed (b) Loom (c) Headles (d) Harness
Water proof fabric is :

(a) Impermeable to air (b) Compactly woven

(c) Light in weight (d) Soft and Pliable
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Iket is produced through :

(a) Direct printing (b) Tie and dye (c) Painting (d) Batik
Ability of fibres to cling together during spinning is known as :

(a) Twist (b) Abrasion resistance

(c) Cohesiveness (d) Elasticity

The process of removing impurities from cotton fibre with the help of soap and soda solution
is called :
(a) Ageing (b) Scouring (c¢) Carding (d) Hackling

Steps to convert cotton fibres into yarns are as follows :

(a) Ginning, baling, carding, combing, slivering and spinning
(b) Baling, ginning, carding and spinning

(c) Baling, carding, slivering and spinning

(d) Carding, combing, slivering and spinning

Before FSSAI which food standards were concerned with maintaining the quality of fruits
and vegetables ?

(a) FPO (b) ISI (c) AGMARK (d) MPO
Which is the major nutritional deficiency disease prevalent among pregnant women ?
(a) Marasmus (b) Osteomalacia

(c) Iron deficiency anaemia (d) Rickets

‘Adequate Intake’ (Al) of a nutrient is used when :

(a) EAR (Estimated Ade. Requirement) is determined.
(b) RDA (Reco. Diet. Allowances) is determined.

(c) EAR or RDA cannot be determined.

(d) EAR and RDA both are determined.

Modified Atmosphere Packaging (MAP) is used for packaging of which food material ?

(a) Cereal grains (b) Nuts and Oilseeds

(c) Fruits and Vegetables (d) Sugars and Oils

Utlra High Temperature (UHT) processing is normally done in case of :

(a) Meat (b) Egg (c) Cereal (d) Milk
When is World Consumer Day celebrated ?

(a) February22  (b) March 15 (c) March 18 (d) December 4
Angular stomatitis is the clinical sign of :

(a) Thiamine deficiency (b) Niacin deficiency

(c) Riboflavin deficiency (d) None of the above

Napping finish is imported to make fabric :

(a) Water absorbent (b) Fire resistant

(c) Crease resistant (d) Air impermeable

Seresk c e



32. Iohe Rl IcUTeA fohEeh HTEIH 9 foha ST R 7

(a) I BUTS (b) O (c) ufm (d) =ifesh
33. hdTs o SR W1 ol HATYH § Fodeh1 1 sheamar & 2

(a) U3 (b) =N gfaQe (c) TESThT (d) &=
34, o ot B SSggal b ATe 3N ETS % Hiet ol FEEdl & 5 i whed 8

(a) QR (b) ShIFT (c) whrigm (d) gefeTT

35. HUTE o WM A GWT S hl =X0Tag Tfshan feaq &
(a) TS, ST, HITST, THelt BT, T FHET (FAGANTT) T haTg
(b) ST, 3Mer, FHIHET T el
(c) STHI, HITST, TATLIT T SHaTs
(d) SIS, e HT, TSN T haTs
36. UTH.TH.UH.U.3TE. ¥ Y4 F § W TS Sl d dfesali shi o sH1¢ W@ & Haf-ad 9 ?

(a) TH.91.31. (b) 3TTE.TH.3TTS. (c) WHTh (d) wg.d.3 .
37. Mot R B g9 aren I v sredar T T A g 2

(a) FTEEE

(b) rfeergaT

(c) TIg dcd <hl Teudl & BiF dTeil TrRIg T

(d) Fhea

38. ot Tiweh dca &1 ‘TR T (Al) I« foRa SITa @ o
(a) 3.0.3, Feifi g g |
(b) LU, Fuifa g |
(c) 3.T.3AR AT AR 1€, Fyifa 72 foman < g |
(d) 3.T.3TR. 91 IN.E1.T. g1 Fuff@ ga 8 |

39. T aTdTeer YenfSi w1 U=t fohd @ yere sht Yok o fote fpan siran 8 2
(a) T  (b) AT faeET  (c) wAAuTHMSTAT  (d) U AT A

40. 37 3= AIUHE TR gET=Id: e afdfefa o fer s @ ¢

(a) T\ (b) 31T (c) IS (d) gu
41. Tova 3uvieT feaw e TR ST B ?

(a) ®LEd 22 (b) A 15 (c) AT 18 (d) feawst 4
42. UReR Wiiersied ekt Terfe oerm § 2

(a) YTITEA T 3Teqdn (b) T=mE= st Steuar

(c) USSR < 3reqar (d) 3WIH | @ H1E oft T

43. @ H T ufEss ot 3T Fre T I R AT B
(a) 9T AIMTH (b)) 0 raqeft (c) ShIst 3reieft CIEIRERE]

RVE 7 Series-A



44. The sealed cans of fish are sterilized at steam pressure of temperature for

(a) 121 °C for 15 min. (b) 100 °C for 60 min.

(c) 121 °C for 90 min. (d) 121 °C for 20 min.
45. In celiac disease, which food should be avoided ?

(a) Vitamin C rich foods (b) Calcium rich foods

(¢) Iron rich foods (d) Gluten rich foods
46. Which hormone is required for glucose utilization ?

(a) Leptin (b) ACTH (¢) Growth hormone (d) Insulin
47. What should be done if you are unsure about the safety of a food ?

(a) Take a small bite for taste (b) Examine under good light

(c) Throw it out (d) Reheat thoroughly

48. Amount of tryptophan required to obtain one mg of Niacin :

(a) 30 mg (b) 40 mg (c) 60 mg (d) 80 mg
49. Red, purple and blue colur of fruits and vegetables is due to pigment :

(a) Chlorophyll  (b) Anthocyanins (c) Flavonoids (d) Polyphenols
50. Salmonella is prevalent in :

(a) Eggs (b) Sugar (c) Pulses (d) Bread
51. Gluten is found in which one of the following ?

(a) Wheat (b) Rice (c) Soyabean (d) Sorghum
52. Coffee is adulterated with :

(a) Papayaseeds (b) Chicory (c) Silica (d) Tannins
53. Sugar caramelisation occurs at which temperature ?

(a) 100°C (b) 120°C (c) 150°C (d) 170 °C
54. Asper ICMR — NIN (2020) RDA, RDA for protein for an adult is :

(a) 1.5 gm/kg./day (b) 1gm/kg./day

(c) 0.83 g/kg./day (d) 0.95 g/kg./day

55. Which of the following terms described organisms that thrive in the cold ?
(a) Mesophiles (b) Thermophiles (c) Psychrophiles (d) Aerophiles

56. A standard Indian Reference Man (as per ICMR) weighs :
(a) 70kg (b) 45kg (c) 85kg (d) 65kg

57. Pulses are deficient in which amino acid ?
(a) Lysine (b) Methionine (c) Tryptophan (d) Alanine
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58. Foods contaminated with lead can cause pathological changes in these body parts :
(a) Brain and heart (b) Kidney and liver (c¢) Lungs and kidneys (d) All of these

59. Example of an interpersonal human resource is :

(a) Creativity (b) Human Cooperation
(c) Skill (d) Intelligence
60. Tools are example of :
(a) Material goods (b) Money
(c) Energy used in production (d) Space

61. A house should :
(a) Be close to factories (b) Be far from hospitals & schools
(c) Have good light, fresh air & sunlight (d) Be located in under-developed locality

62. Repetition is one of the simplest means of producing

(a) Balance (b) Rhythm (c) Form (d) Space
63. Which of the following are the principles of design ?

(a) Line, form, texture (b) Harmony, balance, rhythm

(c) Colour, pattern, space (d) Balance, line, space

64. Human resources can be classified into following groups :
(a) Personal and community resources (b) Personal and interpersonal resources
(c) Personal and dual resources (d) Community and dual resources

65. One of the following is not an objective of interior decoration :

(a) Expenditure (b) Expressiveness (c) Style (d) Beauty
66. Vertical flower arrangement should be :

(a) Narrow at base (b) Narrow at top

(c) Narrow at base as well as at top (d) Wide at base as well as at top

67. One of the following is not a human resource :
(a) Time (b) Money (c) Interest (d) Energy

68. Human Resource Management includes activities that provide, motivate and co-ordinate
human resources of a/an :

(a) Person (b) Organization (¢) Unit (d) Scheme
69. Cool colour is not associated with one of the following :

(a) Sky (b) Sun-shine (c) Ice (d) Water
70. For adulteration in turmeric which colour is used ?

(a) Anthcyanin (b) Flavonoids

(c) Polyphenolic colour (d) Metanil yellow
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(c) EHI-et Tel ST i T Fehl BT ST, |(d) Sl —ched Tl ST b1 T =1l BT =TT |
frefafad 3 @ w aHe gEaE T8 2

(a) &= (b) & (c) ®f (d) S

T FETe Jeu 8 o8 framd aftifera gidt & S fordt = Temdn, Scate 9 THmRiSH Je hid!
g7

(a) oAfh (b) ®TST (c) 3T (d) ST
ST = 4 9 ek & gy grafa T8 B

(a) ITHR (b) T 1 &g (c) 5% (d) S
Tl T firemae 3 foTe 9 & @1 T TR AT 7

(a) TAEEEE (b)) SIS (c) UffeAftiietss T1  (d) Hefer et

11 Series-A



71. Reading material in ‘braille’ is required for which type of child ?

(a) Hearing-impaired child (b) Gifted child
(c) Visually impaired child (d) Speech-disorder child
72. One of the following is not a duty of a resource room teacher :
(a) Provide special material (b) Teach child in regular class
(c) Provide material and consultation (d) Monitor regular classes of children
73. The kitchen and bedroom of a house should be facing so that morning sunrays can
purify the air.
(a) East (b) West (¢) North (d) South
74. It is necessary to take immediate action when body temperature of a child’s body exceeds :
(a) 100° Fahrenheit (b) 98.6° Fahrenheit
(c) 102° Fahrenheit (d) 99° Fahrenheit

75. The 5 levels of psychomotor domain are :
(a) Imitation, manipulation, articulation, precision and naturalization.
(b) Innovation, manipulation, articulation, precision and naturalization
(c) Innovation, manipulation, vocalization, precision, naturalization.
(d) Innovation, imitation, manipulation, articulation, vocalization.

76. Measles vaccine is given to children at which months ?
(a) 14 weeks (b) 12 months (c) 6 months (d) 9 months

77. Children respond to toilet training at around :
(a) 1 year (b) 2 years (c) 1'syears (d) 2'% years

78. Weaving is related to or is influenced by which ability of the baby ?
(a) Sitting ability (b) Teething (¢) Gulping ability (d) Sipping ability

79. Prohibition of Child Marriage Restraint Act was enforced in the year :
(a) 2008 (b) 2005 (c) 2006 (d) 2007

80. Marriage is generally characterized by :
(a) Legal and social recognition of a partnership.
(b) Living together without any legal binding.
(c) A strong friendship.
(d) A contractual financial management.

81. Who was the main proponent of Psychoanalytic theory ?

(a) Sigmund Freud (b) Jean Piaget
(c) Erik Erikson (d) Throndike

82. One of the following is not a characteristic of special need child :
(a) Mentally and physically normal (b) Learning disabled

(c¢) Emotionally disturbed (d) Physically handicapped
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71. ‘S ugfd ¥ ueq <t qrft <t AT o TE o STeteh I Bl & ?
(a) EYT SITd o= (b) Tfawmemef = () e = (d) aToi-ToerR aTett s=

72. T4 T O Uk GHIYH hET h TSI / STEATUhT 1 haed T8l & :

(a) Tafyrs ammft uctey swyAT (b) o= &I Faftrg et 4 ugmT
(c) ATt TE TRt SeTey AT (d) =t <t Farfira sheqtati st et s
73. WM h! TS 9 ITTH foum & feora g =fen fram foh wima:-sh1et < T i femtor
T ! TS T T |
(a) T (b) wfem (c) I (d) gfem

74. Sl % IR BT ATIHH foha Teaft & SameT g W g SRIaTE! it =te ?

(a) 100°HEES  (b) 98.6°HWERE () 102° LRSS (d) 99° H{TETES
75. TS hRHAT h 5 TR E

(a) 3TIH, TSN, HTTTh, TLUTAT, TheTeht0l

(b) TefTeRtoT, TeTsInT, STTHeTeh, FUTT, Jehd htor

(c) TelThTUT, CETSTRITT, IRUT, JATRAT, TRl IehtuT

(d) Tel-eRtoT, STTERTUT, TETSRINT, JATYeE, IR

76. T 1 o] Sl i {oh8 AEH H Qa1 IA1 @ 7

(a) 148w (b) 12 H&H (c) 6WEH (d) 9w
77. &= fohaa 99 9T 3= gfdiere W ufage e @ 7
(a) 1od (b) 2= (c) 1% =d (d) 2 =

78. AT (S MER ) STtk o fohe erma & wrarf-ra /venfad grar | ¢
(a) SSAHIFmaAr  (b) efd Feper (c) TR Hr gwar  (d) i T aman
79. e foarg fremon stfufrm frm o o @y fran o
(a) 2008 (b) 2005 (c) 2006 (d) 2007
80. ferarg i fersiwar STHAR (FMHT=Id:) R 2
(a) TTIGRY <t I TR TSR HT=IT
(b) e foreft IR o7e 6 T |1 &
(c) Teh HoTEd il
(d) T HleeTeHs foia Jawaq
81. TGRS fHgT= Sl & T&Tae i o7 ?

(a) Tamus wigg (b) W e (c) Ui Tieq ORESERD
82. fymferfiaa o @ wen, fomiw Tavaehal ael o= B AR TR R
(a) TMTHeh 9 TR €9 9 G (b) HrEH T 318w

(c) WTSATcHS &9 Y TIH (d) wmiifes w9 & foepetm

h\hii*:h i o ' ' o 13 Series-A



83.

84.

8s.

86.

87.

88.

89.

90.

91.

92.

93.

94.

is based on moral and ethical principle which we learn from our parents and society.
(a) Id (b) Ego (c) Super Ego (d) Unconscious

In which stage of Piaget’s Cognitive Development theory, the infant experience the view of
objects as “out of sight out of mind” ?

(a) Sensorimotor stage (b) Preoperational stage

(c) Concrete operational stage (d) Formal operational stage

Pre-operational stage is the :
(a) First Piagetian stage (b) Second Piagetian stage
(c) Third Piagetian stage (d) None of the above

According to the following Act — Elementary Education is a Fundamental Right of every
child :

(a) According to Right to Education Act, 2009

(b) According to Right to Education Act, 2005

(¢) According to Right to Education Act, 2011

(d) According to Right to Education Act, 2016

Legal Blindness refers to which level of visual accuracy in the better eye sight after
correction ?

(a) 20/70 (b) 20/100 (c) 20/200 (d) 20/20
Visual acuity can be assessed with :

(a) Opthalmosocope (b) Snellen chart

(¢) Goniometer (d) Refractometer

In shaping the personality of an individual, what plays an important role ?
(a) Heredity only (b) Environment only
(c) Both heredity and environment (d) Family and school of a person

The first temporary teeth usually erupt between the age of

(@) 2—4 months (b) 4 — 6 months (c) 6— 8 months (d) 0-2 months
Developmental tasks are given by whom ?

(a) Sigmund Freud (b) Havighurst (c) Jean Piaget (d) Erik Erikson
Fraternal twins are characterized by :

(a) Are Identical twins (b) Develop from the same zygote

(c) Fertilized by single sperm (d) Two separate eggs are fertilized

Ovum is developed in

(a) Female Gonads (b) Kidney (c) Liver (d) Heart

According to Sigmund Freud, we are born with what ?

(a) Id (b) Ego (c) Super Ego (d) Marvellous Ego
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Afcrep wg Afaes fagra W smaTid 8 S &1 319 Arar-fudn e v @ e ¢ |
(a) 33 (33H) (b) T (37&H) (c) ERFM (TWeH)  (d) =44
TSt <61 wsTTeHe foehra SR <6l foha atareen o 1] 917 319w iaT & — “gfe ¥ 3iverd, femm
e 7
(a) ST e / weidt usfier sraea
(b) q& ToraTcnes =or / qd wfshaTenes atawen
(c) O UTETeH =0T / i |ishaTcHeh STael
(d) IT=ies afETe =0T / STY=iies SishaTcHes 3T

TS - T shATcHe JTTEAT 8
(a) gl fomt e (b) fecia fomms srareen
(c) qara TSt sraen (d) SURH | H HIg &I

o= srfarfoem % sger, yRftes fren yos s o1 mifers TR 2
(a) Torem =1 arferspr arfearfem, 2009 % AR
(b) Toreq =1 safersRR affaRm, 2005 % AR
(c) Torem =1 arferspr arferfem, 2011 @ 3FER
(d) Treq =t safersRR arfrfaRm, 2016 % AR

HILH GEEHAT UR & 91¢ Saa 3@ § fohd Tt 31 g7 dieorar s Teiifd i 8 7

(a) 20/70 (b) 20/100 (¢) 20/200 (d) 20/20

T T hT TR fohard foham T Teha 2 7

(a) FFUCAC®  (b) THoW ER (c) TfRmfiex (d) Tobeeiex
Tepeft =arfh < Safehea =T TR S | R HEwaqoT fireht T @ 7

(a) TATISHH had (b) STATIROT Shaed

(c) TMIFHH TR STTeReT Sl (d) =afth 1 IHER 3R e

T 3T gfd AT P SH F e ged & 7
(a) 2—-47EH  (b) 4—6TEN (c) 6—8WEM (d) 0—2 %M

frepreTene %l frges g e Tu E ¢

(a) famUgHiae  (b) BEEE (c) S foamst (d) T i
gt = 9 Tgam ST

(a) e HHM gl (b) Tk & YU ¥ foremfera

(c) T S[h1] gI foehfera (d) T 31uETY] gr forehfda

o] fere ferenfira Bl 2 7

(a) Hfeen S (b) 9% (c) ¥Fa (d) &
fermue e o IR, &9 fhesh A dg B § 7

(a) 38 (3M) (b) T (IWvE) 3TEH,

(c) GRS (3o =mus) Tigw, (d) 3TeYA S (IW0E) 37eq
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9s.

96.

97.

98.

99.

100.

101.

102.

103.

104.

10S.

106.

107.

Triangular shaped folds in a fabric stitched to control fullness are called :

(a) Gathers (b) Pleates (c) Darts (d) Hem

The total number of warp and weft yarns, per square inch of a woven fabric is known as :
(a) Stitch density (b) Knitting density (c) Fiber density (d) Fabric count
Suitable fabric for a school going child are/is :

(a) Strong and Sturdy (b) Sheer

(c) Soft (d) Shiny

Threads which come out during fabric handling are called :

(a) Trim (b) Drop (c) Fray (d) Miter
During scouring the saponifiable oils are converted into :

(a) Alkalies (b) Soaps (c) Fatty acids (d) Fatty alcohols
The most common methods of repairing garments are two-namely :

(a) Darning and dart (b) Patching and darning

(c) Gathers and hemming (d) Dart and hemming

In cotton fabrics, mercerization finish is imparted by

(a) Hydrochloric acid (b) Sulphuric acid

(c) Caustic soda (d) Neutral soap

Gold or silver threads used in Kim khwab are called :

(a) Shikargarh (b) Kalabattu (c) Brocade weaving (d) Butidar
Stripping agents are required in dyeing, but not in printing, the reason is :

(a) To bind the dye on fabric surface (b) To shed off the extra dye

(c) To enhance the dyeing quality (d) For colour fastness

Fibres which do not soften or melt due to heat application are called :

(a) Plant fibres (b) Thermoplastic fibres

(c) Non-thermoplastic fibres (d) Animal fibres

When cellulose fibres are burnt, the smell of fume resembles :

(a) Burning hair (b) Burning paper (¢) Chemical smell (d) Burning rubber
Among natural fibres which is the weakest fiber ?

(a) Cotton (b) Wool (c) Silk (d) Linen
Development of an individual refers to :

(a) Orderly progression of changes towards maturity and throughout life.
(b) Physical changes in height and bodily size.

(c) Changes in the body till maturity only.

(d) None of these
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95. uftguiar st fEIfra % o fore et T Brepivfier 11ehR % Biegd i el I &

(a) I (b) wiiz@ (c) S (d) g (2M)
96. WL (TH) T I g T H, Teh o1l §91 U, ot A I &1 oh ST bl o1 hgd & 7
(a) 2Tl &1 T (b) g8 (fafé) =1 wme
QR IEIRE] (d) Hfsrh 1R
97. UTSHITA T FTSH S % oI SR T B A B E ¢
(a) TS 3TN AT Tt Tt (b) vt
(c) HeiEH (d) =HehaR
98. G Sl S T T hid o S STel fehed STTd &, o1 ShgelTd & 7
(@) T (b) g (©) % (d) o
99. THISIIT o AN TSR oe fenerdl et & wd & ?
(a) @R (b) ®TEA (c) =THIIH 3T (d) THIE Teehlgled

100. =& <l 7O & foTe amT=ra: /g < faftrat sem o ol 9 §; e A E
(a) M TEEE  (b) WM TGN () TRWES  (d) ST TR
101. Tt &0 H AEfUgsoE girs foreeh gra & S § 7

(a) ETSSIFAIN 3T (b) TR 37
(c) hifEesh Hrel (d) =Iget |
102. Torm TaTe § YANT AT ST STt G 31 =Sl o 91Tl o1 941 hgd & 7
(a) Frerrg (b) TSR], (c) ST (d) e

103. St wSve i OIS T srrawehdl Bl 2, A1 ok BUTE H, 36 SR 8
(a) TTh! HUS Hl g TWIHMT (A1) (b) ATI T I ST

(c) TTE shi TUTereiT <Rl ST (d) TeRhY T % form

104, UH I S AT /AT 1 TANT H W Gl T8l g /fererd 721 &, shaerd 8
(a) FEafd @& (b) YHTATRE I
(c) TH-UHTEeh W (d) e W&

105. & SR LM ! STATAT SI1aT 2 ol 3eh! 714 fefetfiaa & fored I @i 2 2

(a) SAd LA (b) A1 BB (¢) THRD T4 (d) Sert g2t e
106. STk A3t § Tad HHASTR dq i 18 ?

(a) et @m (b) It m (c) WH (d) fo=
107. Torelt =aftr % foepra o1 Tgfila st 8

(a) OROerEdT &t 3TR 3T e aitad=i i shsg Wi

(b) S=ig 3 Smifes 31eR H ST iterd

(c) “hael aRugedr deh IR J aiEda

@ AP
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108.

109.

110.

111.

112.

113.

114.

115.

116.

117.

118.

119.

120.

121.

Deviation from straightness of fiber/yarn along with length of the yarn :

(a) Count (b) Pilling (¢) Crimp (d) Nap
Prevention of Food Adulteration Act was started in the year :

(a) 1953 (b) 1951 (c) 1954 (d) 1961
Disadvantage of sieving flour is :

(a) Loss of nutrients (b) Removal of dirt

(c) Shelf life improved (d) Helps in binding

Digestibility of complex substances during germination is :
(a) Increased (b) Decreased (c) Remains same (d) None of these

Food hygiene is the sanitary science which does not involve :
(a) Maintaining nutritional quality of food

(b) Protection of food from contamination

(c) Prevention and multiplication of organism

(d) Destruction of harmful bacteria

Sliva contains which enzyme
(a) Renin (b) Ptylin (c) Pepsin (d) Trypsin

Which of the following statement is not ‘True’ ?
(a) Oils are liquid at room temperature.

(b) Oils contain mostly unsaturated fatty acids.
(c) Oils are rich source of Vitamin E.

(d) Oils contain all the essential fatty acids.

Microwaves are produced by :

(a) Magnetron (b) Magnet (¢) Sound waves (d) Ionic irradiation
Most of the nutrients are absorbed in which body part ?

(a) Mouth (b) Large intestine  (c) Liver (d) Small intestine
Coagulation of egg yolk occurs at which temperature ?

(a) 50°C-55°C (b) 60°C-62°C (c) 65°C-70°C (d) 75°C-80°C
The whole dry grains of soyabean contains about how much % protein ?

(a) 25% (b) 30% (c) 40% (d) 15%
Xerophthalmia and Keratomalacia is due to deficiency of :

(a) Riboflavin (b) Vitamin A (c) Iodine (d) Proteins

This symptom shows the retention of water in body tissues :

(a) Nausea (b) Dementia (c) Oedema (d) Nephritis

The warmth and softness of flannel fabric is due to fuzzy surface made by the process of :

(a) Weighting (b) Napping (c) Embossing (d) Glazing

Series-A 18 RVE



108.

109.

110.

111.

112.

113.

114.

115.

116.

117.

118.

119.

120.

121.

RVE

T shl TTFEITS o 91 /4T o fa=rete /o <l shad @

(a) WIS (b) fufem (c) Torm (d)
wre rateser e St 39 o gre foma e

(a) 1953 (b) 1951 (c) 1954 (d) 1961
T 1 B B F=fetiad g1 gt 2

(a) TS Tl § Sl (b) T G HET

(c) TUE i FaT AT (d) ¥ ¥ FErral

AT & (A TeTei hl FremRiterdt

(a) SEMAR|  (b) FHBACE | (c) IS I AE A |(d) S & his el |
TTe el 98 Stedt fomm 2 o =g wftrer 7 g @

(a) WIS <h! TIYUT TUTEAT <l ST TEHT (b) WIS ! HGYU § =M

(c) SETU[3TT & SrETd & 3eh 0 ol UhAT  (d) T-hNEh SHATU[SAT o formmer
TR @ § I 1 fepveres (TT3H) IR ST 8 ?

(a) ¥ (b) e (c) Ui (d) fefem
frafefga @ @ s @ T’ =R ?

(a) HER o ATIHH T ded aled TEAT T B & |

(b) At § 3TfrehaR 3TEqH Fefi 370t 81 ¢ |

(c) T fqafm i agg aa & |

(d) ati & Tt STTavereh SE 3T 9T S1d § |

HTS5hIoeH fehteh GRT IcdTicd BIdl @ 7

(a) TWEH (b) T=h (c) e o (d) It foRom
STReRat dIveh dedl Sl STE forg ST H BT R ?

(a) 48 OS] (c) T (d) BI 3fa

37 o Tt 9T (W FATeh) ohl Thed fohd aTOHE WEAT R ?

(a) 50°C—55°C (b) 60°C—62°C  (c) 65°C—70°C  (d) 75°C—80°C
RIS & g@ g | AT fhaT % T BT g 7

(a) 25% (b) 30% (c) 40% ) 15%
TR 3R AR 36 Tk dedl i HeTdl 8 8d &

(a) TgsIwRAfed  (b) Formfim T (A) (o) 3mEEH (d) S
Ig A0 T o5 Frdieh! 8 T b1 TTGuor (wehr) e @

(a) SAf=em T (b) TAYH (eFT) () §oW (d) Twusfem

AT UL hl THIES 3T HIHAT 39k VUSR Hdg o HIU gldl g S e gfsma gry s =18 STt
2.

(a) I FgMT (afam) (b) At

(c) THITTET (d) TR
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122. Maximum retention of nutrients occur during cooking of food by :

(a) Frying (b) Roasting (c) Steaming (d) Barbecuing
123. As per ICMR-NIN (2020), the cereal : legume : milk composition of the diet is :

(@ 11:1:3 (b) 9:2:2 (c) 4:1:35 (d 3:1:25
124. Potatoes and Peas have neutral taste as their pH ranges from .

(a) 5.7t06.0 (b) 6.1t06.3 (¢) 5.1t05.3 (d) 52t05.5
125. For good freezing of foods, the temperature required is :

(a) — 18 °C or below (b) 5°Cto8°C

(c) —10°Cto12°C (d 2°Cto3°C
126. Cheilosis and angular stomatitis are common symptoms of deficiency of :

(a) Thiamine (b) Riboflavin (¢) Vitamin C (d) Iodine
127. Fruit Product Order was modified in the year :

(a) 1955 (b) 1954 (c) 1961 (d) 1958
128. Which of the following is not a fermented food ?

(a) Idl (b) Dosa (c) Bread (d) Cake
129. Egg is not a rich source of :

(a) Vitamin C (b) Protein (c) Fat (d) Calcium
130. Egg protein is considered as :

(a) Reference protein (b) Unavailable protein

(c) Incomplete protein (d) Complementary protein

131. Basal metabolic rate is estimated by the technique :

(a) Calorimetry  (b) Anthropometry (c) Physical activity (d) Barometry
132. is the richest source of calcium.

(a) Maize (b) Pearl millet (c) Ragi (d) Sorghum
133. Lactose intolerance is a clinical syndrome which occurs due to :

(a) Excess of Lactase enzyme (b) Absence of Lactase enzyme

(c) No Amylase enzyme (d) No Galactose 1-phosphate
134. Which milk has reduced fat content ?

(a) Toned milk/skim milk (b) Condensed milk

(¢) Dry milk (d) Evaporated milk

135. Which of the vitamin is known as the blood clotting vitamin ?
(a) Vitamin A (b) Vitamin B (c) Vitamin C (d) Vitamin K

136. Following is not a cooking method :

(a) Fermentation (b) Steaming (c) Frying (d) Poaching
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ISk dedi shT gad {0 TTaemor WisH o e fafr g g a giar g -
(a) T (b) ST (c) W9 g (d) SRS HET

3TTS. ¥ UH. 3R, — TH. 3778, TH. (2020) 3 STTHR HISH H 3T : STl : G4 1 EISHA (ST T
87

(@ 11:1:3 (b) 9:2:2 (c) 4:1:35 (d 3:1:25
3Te] 3TN AT 1 TaTE qeEY Bl 8 Fifeh 31 .=, (pH) il B8 |
(a) 5.796.0 (b) 6.186.3 (c) 51853 (d) 52855
A e 1 3T=] T8 8 STH o ToTT foha q99T hi STTa9dehdT gidl & 7

(a) —18°C 3 398 f= (b) 5°CH°C

(c) —10°CT 12°C (d) 2°CT3°C

FHicfrg (318 faeton) 3 TR witersfed fora divs aaa K T g 8 ?

(a) grfEA (b) TSETFRATSH OREILEEE: (d) AAER
Hel ICATG TS 39 Y [T 53T

(a) 1955 (b) 1954 (c) 1961 (d) 1958
Fr=fafea o @ %= o1 fonfvaa @ v =& & 7

(a) sl (b) S (c) e (d) e
3TUET 39 e T 35T 91 18 2

(a) Taerfem = (b) TEH (c) =En (d) Hicam
3108 < I A AT ®

(a) HeRAWER  (b) A9TH IEH (c) 37Ut TEH (d) HT TEH
LRI =A== g (BMR) =i 39 Tehri1eh I HTT ST &
(a) e (b) s AT (c) TTHTEh ® (d) sHedt

I AT HcHTm o Hod ITH EG 8 ?

(a) TR (b) sTIU (c) Tt (d) SR
AFRIS ST Teh GTieh g 8 I foh 56 10T 21T 3

(a) TTES TSATSH hl JAfereha (b) TS TSATEH T A BT

(c) THTSAS TITgH 1 7 BT (d) NerERIS 1 -wiEhe &1 A gl
S 8 gy § 58 I W HH B B 7

(a) 2SqY / BlRIgY (b) FHre<e (Fafid) g

(c) qETURsig™ (d) Ter gy

T Q5 A Tl w1 T 1 ekl S arert i whEd @ ?

(a) TaafimT (b) Torerfim ft (c) Toerfim =t (d) frfim
Fr=faRea o @ %9 o @ s i fafr =& g 7

(@) T () AMEW () A (d) Tt
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141.
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143.

144.

145.

146.

147.

148.

Digestion of proteins begins in the :

(a) Mouth (b) Stomach

(¢) Small Intestine (d) Large Intestine

Carbohydrates are organic compounds composed of Carbon, Hydrogen and Oxygen in the
ratio of :

(@) 2:1:1 (b) 1:2:1 (c) 2:1:2 (d 2:2:2
Rapid browning of cut surface of fruits occurs due to :

(a) Enzymatic browning (b) Non-enzymatic browning

(c) Low temperature (d) High temperature

A decrease in serum calcium level gives rise to :

(a) Osteoporosis (b) Cell proliferation

(c) Hyponodremia (d) Grave’s discase

When the body Vitamin A stores are low, conversion of 3 carotene to retinol is :
(a) Enhanced (b) Reduced

(c) Remains same (d) Very less

Wasted children are those who have :

(a) Low body weight for the age (b) Low height for the age

(c) High weight for given height (d) Low weight for given height
White petrol, kerosene, talcum powder are oftenly used as :

(a) Fabric softner (b) Stain remover

(c) Bleaching agent (d) Dirt removal

In which weave, weft yarn goes alternatively under and over the warp yarns ?

(a) Stain weave (b) Pile weave

(c) Plain weave (d) Dobby weave

Which part of the plant is used to extract jute fibre ?

(a) Seed (b) Stem (¢) Leaf (d) Fruit
Which manmade synthetic fibre is exceptionally strong ?

(a) Rayon (b) Acetate (c) Nylon (d) Acrylic
BMI stands for :

(a) Body Mass Index (b) Basal Metabolic Index

(c) Basic Mass Index (d) Basic Metabolic Index

3 Ds disease which stands for Diarrhea, Dermatitis, Dementia is caused due to the deficiency
of :

(a) Thiamine (b) Riboflavin

(c) Niacin (d) Vitamin D
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149. Complete protein foods are :
(a) Egg (b) Vegetables (c) Fruits (d) Ghee

150. Cereals are deficient in essential amino acid :
(a) Lysine (b) Methionine (c) Valine (d) Histidine

151. All enzymes and some hormones are made up of :
(a) Vitamin and minerals (b) Fats

(c) Carbohydrates (d) Proteins

152. Simple fats are made up of :

(a) Three fatty acids and one glycerol (b) Benzene ring structure
(c) Diglycerides (d) Monoglycerides
153. Cholera is caused by :
(a) Salmonella typhi (b) Vibrio cholerae
(c) Hepatitis A virus (d) Entamoeba histolytica

154. Malnutrition means :
(a) A person is not eating properly.
(b) May mean undernutrition or overnutrition.
(c) Someone is starved.
(d) Someone is eating too much.

155. Who defined Health as “State of complete physical, mental and social well-being and not
merely the absence of disease and infirmity” ?

(a) WHO (b) UNESCO (c) UNICEF (d) ICMR
156. Bile is required for the digestion of which nutrient ?

(a) Proteins (b) Fats

(c) Carbohydrates (d) Vitamins and minerals

157. Which of the following is the main function of carbohydrates in the body ?
(a) They provide chemicals for repairing of cells.
(b) They help to regulate hormones.
(c) They are the main source of energy.
(d) They release cholesterol.

158. The basic units from which proteins are built are :
(a) Amino acids  (b) Saccharides (c) Lipoproteins (d) Lipids

159. This is a condition in which self-induced starvation to attain slim figure among adolescent
girls leading to serious health problems :
(a) Dieting (b) Bulimia Nervosa
(c) Over eating (d) Anorexia Nervosa
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The best fabric for infant clothing is :

(a) Polyester (b) Silk (c) Cotton knit (d) Woollen
Kwashiorkor is a nutritional deficiency disease in children which arises due to the deficiency
of :

(a) Energy (b) Energy & Protein (c) Protein (d) Calorie
From which months onwards infants can be given seasonal fruits ?

(a) 2 (b) 3 (c) 4 (d) 6

Till how many months infants do not suffer from malnutrition if they are breastfed ?

(a) 4 months (b) 6 months (c) 8 months (d) 10 months
The Family Court’s Act came into being in :

(a) 1982 (b) 1984 (c) 1986 (d) 1988
Prehension is the ability to group objects with :

(a) Finger and thumb (b) Palm and Finger

(c) Palm and thumb (d) Finger and hand

The nervous system grows very rapidly during which first years after birth ?

(a) 2 (b) 3 (c) 2-3 (d) 3-4

DPT Vaccine is given for prevention of :

(a) Whooping-cough (b) Diphtheria

(¢) Thrush (d) Tuberculosis

The cephalocaudal principle refers to the fact that growth and development proceed from :
(a) foottohead (b) head to foot (c) waist to head (d) waist to foot
Danger signs of dehyderation are :

(a) Soft voice, frequent urination (b) Slow breathing, frequent urination
(c) Frequent urination, loosening of skin  (d) Loosening of skin and wrinkling of skin

The natural guardian of a Hindu minor is his/her :

(a) Father (b) Mother

(c) Both Father and Mother (d) Elder sibling

Marriage Laws Amendment Bill was introduced in :

(a) 2006 (b) 2008 (c) 2010 (d) 2015
Under Hindu Marriage Act, after filing a divorce petition there is a cooling period of :
(a) 1 year (b) 6 months (c) 1'syears (d) 2 years
A void marriage means that :

(a) The marriage never existed.

(b) Both parties decide to continue with the marriage.
(c) Isrecognized in the eyes of the law.

(d) Is terminated by way of a divorce.

Among following example of an interpersonal human resource is :
(a) Creativity (b) Human Co-operation
(c) Skill (d) Intelligence
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Polygamy was practiced due to following reasons :

(a) To increase population size (b) To decrease population size
(c) Stabilize population (d) Support gender equality
The definition of marriage is :

(a) Itis an emotional and family union between a married man and a woman.
(b) Itis a social and emotional union between a married man and a woman.
(c) Itis a family and legal union between a married man and a woman.

(d) Itis asocial and legal union between a married man and a woman.

These are required by body in small amounts :

(a) Protein (b) Micronutrients (c) Carbohydrates (d) Water

Soups are served at the beginning of all formal lunches/dinners as :

(a) Cold drinks (b) Appetizer (c) Dessert (d) Shake
Undernutrition caused by protein deficiency is termed as :

(a) Beri beri (b) Ketoacidosis

(¢) Kwashiorkor (d) Hypothyroidism

BMR for one day for a 25 year old woman, whose weight is 50 kg and height is 155 cm, is :
(a) 800 kcal (b) 1080 kcal (c) 2000 kcal (d) 2400 kcal

A balanced diet includes :

(a) Proteins, Carbohydrates and Fats

(b) Protein, Carbohydrates, Fats and Vitamins

(c) Proteins, Carbohydrates, Fats, Vitamins and Minerals

(d) Proteins, Carbohydrates, Fats, Vitamins, Minerals, Water and Fibre

The food guide pyramid emphasises that how much percent of a days servings should come
from grains, vegetables and fruits ?

(a) 40% (b) 50% (c) 60% (d) 75%

One of the nutritional problem in India is protein-energy malnutrition, which is caused by
inadequate intake of :

(a) Macro nutrients (b) Micro nutrients

(¢) Macro and micro nutrients (d) Macro nutrients and Vitamin A

Which of these is a fat soluble vitamin ?

(a) Vitamin B1 (b) Vitamin B2 (c) Vitamin C (d) Vitamin D
The adult body contains about 1.2 kg of calcium out of which how much percent is present

in bones and teeth ?
(a) 50% (b) 60% (c) 80% (d) 99%

Shortage of women in the society occurs due to :
(a) Foeticide (b) Poverty (c) Female infanticide (d) Endogamy
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Which are the main source of proteins ?

(a) Wheat, maize, rice, soybean

(b) Whole pulses, split pulses, sprouted pulses, roasted pulses
(c) Carrot, cauliflower, apple, sweet potato

(d) All of the above

Which vitamin is most potential antioxidant found in food ?

(a) Thiamine (b) Riboflavin (¢) Niacin (d) Vitamin E
Which is an example of incidental adulterant ?

(a) Cadmium (b) Melathion residue (c) Molasses (d) Ergot

Which of the following is a cooking method for eggs in the minimum amount of liquid at a
temperature of 80° — 85 °C :

(a) Poaching (b) Steaming (c) Stewing (d) Simmering
One gram of fat gives calories :

(a) 4 (b) 6 (c) 8 (d) 9

Yarns are made of :

(a) Fibres (b) Fabric (c) Clothing (d) Threads
Natural fibres are not obtained from :

(a) Animals (b) Plants (¢) Minerals (d) Glass

What does finishes do to a fabric ?

(a) Turns yarns into fabric (b) Turns fibre into yarns

(c) Recycle a fabric used earlier (d) Adds value to the fabric after manufacturing
A finish that is applied after every wash is called finish.

(a) Temporary (b) Durable (c¢) Routine (d) Semipermanent
Minimum set of yarns required for weaving :

(a) 1 (b) 2 (c) 3 (d) 4

Horizontal lines in a knitted fabric are known as :

(a) Warp (b) Wales (¢) Courses (d) Weft

Among the following which is a synthetic polyamide fibre ?

(a) Nylon (b) Cotton (c) Silk (d) Wool

The rough, dirty and stained fabric received from a loom is known as :

(a) Grey cloth (b) White cloth (c) Yellow cloth (d) Red cloth

The simplest form of carbohydrates found in nature are :

(a) Monosaccharides (b) Disaccharides

(c) Oligosaccharides (d) Polysaccharides
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